
Minusrechnen (bis 50 000)

Aufgabe 1

1. 25 527 - 17 911 =   

2. 27 637 - 16 619 =   

3. 38 875 - 22 358 =   

4. 31 452 - 18 328 =   

5. 33 720 - 30 448 =   

6. 49 961 - 13 073 =   

7. 37 675 - 34 170 =   

8. 22 331 - 7 593 =   

9. 42 131 - 38 219 =   

10. 29 649 - 9 008 =   

Aufgabe 2

1. 12 240 - 7 793 =   

2. 43 489 - 9 193 =   

3. 45 563 - 32 499 =   

4. 45 509 - 19 128 =   

5. 37 843 - 36 456 =   

6. 49 878 - 43 784 =   

7. 26 993 - 7 304 =   

8. 47 229 - 39 468 =   

9. 44 161 - 25 901 =   

10. 25 661 - 24 633 =   

Aufgabe 3

1. 44 101 - 35 021 =   

2. 33 955 - 33 021 =   

3. 15 532 - 14 739 =   

4. 25 447 - 10 619 =   

5. 47 534 - 47 162 =   

6. 16 996 - 7 631 =   

7. 46 408 - 16 455 =   

8. 42 418 - 17 825 =   

9. 33 791 - 5 376 =   

10. 13 779 - 13 604 =   

Aufgabe 4

1. 44 049 - 26 147 =   

2. 46 384 - 31 468 =   

3. 31 072 - 5 552 =   

4. 48 759 - 26 778 =   

5. 41 947 - 19 232 =   

6. 37 652 - 29 536 =   

7. 24 284 - 7 012 =   

8. 40 350 - 22 337 =   

9. 35 431 - 32 093 =   

10. 28 793 - 21 657 =   
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Minusrechnen (bis 50 000)
| ANTWORTEN

Aufgabe 1

1. 25 527 - 17 911 =  7 616

2. 27 637 - 16 619 =  11 018

3. 38 875 - 22 358 =  16 517

4. 31 452 - 18 328 =  13 124

5. 33 720 - 30 448 =  3 272

6. 49 961 - 13 073 =  36 888

7. 37 675 - 34 170 =  3 505

8. 22 331 - 7 593 =  14 738

9. 42 131 - 38 219 =  3 912

10. 29 649 - 9 008 =  20 641

Aufgabe 2

1. 12 240 - 7 793 =  4 447

2. 43 489 - 9 193 =  34 296

3. 45 563 - 32 499 =  13 064

4. 45 509 - 19 128 =  26 381

5. 37 843 - 36 456 =  1 387

6. 49 878 - 43 784 =  6 094

7. 26 993 - 7 304 =  19 689

8. 47 229 - 39 468 =  7 761

9. 44 161 - 25 901 =  18 260

10. 25 661 - 24 633 =  1 028

Aufgabe 3

1. 44 101 - 35 021 =  9 080

2. 33 955 - 33 021 =  934

3. 15 532 - 14 739 =  793

4. 25 447 - 10 619 =  14 828

5. 47 534 - 47 162 =  372

6. 16 996 - 7 631 =  9 365

7. 46 408 - 16 455 =  29 953

8. 42 418 - 17 825 =  24 593

9. 33 791 - 5 376 =  28 415

10. 13 779 - 13 604 =  175

Aufgabe 4

1. 44 049 - 26 147 =  17 902

2. 46 384 - 31 468 =  14 916

3. 31 072 - 5 552 =  25 520

4. 48 759 - 26 778 =  21 981

5. 41 947 - 19 232 =  22 715

6. 37 652 - 29 536 =  8 116

7. 24 284 - 7 012 =  17 272

8. 40 350 - 22 337 =  18 013

9. 35 431 - 32 093 =  3 338

10. 28 793 - 21 657 =  7 136
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